January 13, 2013

5.3 Sum & Difference Identities

cos(ax — ) =cosacos f+sinasin
cos(x + ) =cosacos f—sinasin

sin(e — ) =sina cos S —cos a sin B
sin(a + ) =sin cos ff+ cosa sin [
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tana +tan f#

tan(a+ /) = 1 -tana tan S

tana —tan

tan(ax - f3) =

1+ tan & tan f#

Find the exact value of:

cos105°

sinl5°
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Write as the sin, cos, or tan of an angle:

sin 50° cos 26° —cos 50°sin 26°

c0s 50° cos 26° —sin 50°sin 26°

Prove the identity:

T .
COS X—E = SIn X
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If one of the angles in a sum or difference is a quadrantal angle
( multiple of 90 or [7/2) then the sum-difference identities
yield single-termed expressions.

We call these reduction formulas

sin(x— y)+sin(x+y)=2sinxcosy




January 13, 2013

Use your knowledge of identities to describe the transformation
of these graphs.

cos(x — 3) cos(3—2x)

Just like in 5.1 we can use identities to help us solve equations
using trig

cos 3xcosx =sin3xsinx
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sin (3x) —3cos’ xsin x —sin’ x




